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XXVII PEITIYBJIMKAHCKA CTYJAEHTCKA OJIUMIINAJIA ITO
ITPOI'PAMUPAHE, 8-10 maii, 2015 r.

3agaua G. OJIMMIIUAJIA

Besika roguHa moMakuHBT Ha PermyOnukanckaTra CTyACHTCKAa OJTUMITNA/IA 110 MIporpaMupaHe TpsioBa aa
pemiaBa 3ajada 3a paslpelesieHHeTo Ha OTOOpHUTe, y4yacTBallld B OJIMMIIMAJATa, B KOMIIOTHPHUTE
nabopaTopuy Ha yHHMBEpPCHUTETa. 3a M30srBaHe Ha B3aUMOCHCTBUETO HAa OTOOPUTE OT €IMH M ChIUIH
YHUBEPCUTET, BBbB BCsAKa Jlabopartopusi TpsOBa Ja MMa Ha-MHOTO €AMH OTOOp OT YHHBEPCHUTET.
Hanumere nporpama, KosTo /a JaBa OTTOBOP Ha BBIIPOCA: UMa JIM PELIEHUE TaKa I0OCTaBeHaTa 3aj1a4ya
IIPH YCIIOBUSATA HA KOHKPETHA ro/inHa?

Bxoa: Ilporpamara TpsiOBa ga Moke Ja 00pa0bOTBa HSAKOJIKO MpHMEpa NMpH €AHO H3MbJHEeHHEe. Ha
I'BPBUS peJl Ha CTAHAAPTHHUS BXOJ Ie Obe 3aaa1eH OposaT T Ha TecToBUTE NpuMepu. Beeku mpumep
ce chCToM OT pen ¢ Opost M Ha yHuBepcuteTure, pel che Cuchbk oT M uuncia — OposT Ha 0TOOpUTE Ha
BCEKH YHUBEPCHUTET, pell ¢ Opos N Ha KOMIIOTHPHUTE JTa0OPATOPUU HA YHHUBEPCUTETA-IOMAKUH U Pl
cbc cnucbk oT N dymcna — mo KOIKO oTOopa MOKe Jna ObaaT pasmpeneieHd BBB BCSKA OT
JabopaToOpUHTE.

M3xox: 3a Bcexu mpumep mporpaMara TpsOBa J1a M3BEJEC Ha OTICJIECH PEJ Ha CTAHAAPTHUSA H3XO0/
OTroBOpa Ha MOCTaBEHATa 3aJja4a — YE S WU NO.

Orpanunyenusi: Bcuuku 1aHHU ca 1eNTM MOJ0KUTENHU YHCIa, He mo-rosieMu ot 20.
IIpumep:

Bxoxa H3xon

1 yes

11

2 2 2 2 442 3323
5

6 6 6 6 6




SOUTH-WEST UNIVERSITY ,,ST. NEOFIT RILSKI“ BLAGOEVGRAD
B XXVII BULGARIAN COLLEGIATE PROGRAMMING CONTEST, May 8-10, 2015

Task G. OLYMPIAD

Each year, the Host University of the Bulgarian Collegiate Programming Contest must solve a problem
of the distribution of teams participating in the Olympiad in the computer labs of the University. To
avoid the interaction of mryn teams from same university, in each laboratory should have at most one
team from the University. Write a program that answers the question: is there a solution of such task
for the specific data for the year?

Input: The program must be able to handle a few test cases. The first line of the standard input will
contain one integer T — the number of test cases. Each test case consists of line with the number M of
universities, another line with a list of M integers — the number of teams in each university, line with
the number N of computer labs of the Host University and a line with a list of N integers — how many
teams can be assigned to a specific laboratory.

Output: For each test case the program has to print on a separate line of the standard output the
answer to the question - yes or no.

Restrictions: All data are positive integers no larger than 20.
Example:

Input Output
1 yes
11

2 2 2 2 442 3323
5

6 6 6 6 6




